H oY

%%%
I

1. ¥¥4
B4 ST TAEEE AR EE R NBG S SR S
JBA T fE A EE B ATE N

2. EBEAR

1) FHI4 fEEE ST AR
2) BT 299 H H 4&f1 74 64 6H

£ Sf1 84 3H3LA

3) &FEtHM
AL, WREEFHITENOM SN T EAFEICRB T B & OE
HHEEZIT O D TH D,

I

HLI
R

4) FEHBNA
BE TEERRIL R D LBb,

o ELASEE TN



%lljll
I

kWA | BRTEE & EEE NSRRI ER E W=
H H FEME SR
THH - T - R A7 # & KA OB RR
FEHE S = 180, 400
LV S & =X 180, 400
4 R S B =X 180, 400 | 4 FRILUESHIE
5 =8
N AN s <2 T AN
Ho & =X 598, 483
FiLH £ =X 598, 483
bR =X 598,483 | Bl E: (VESERF )
1 kW
T A
0.007)1  (km2) =
Jos = = 451, 690
BRI = 451, 690
BRI = 451,690 | {E3£31HE
1 S0
T kAT
0.2 km
TR
0.2 km
R = 50, 000
[ERE5 S = 50, 000
R e T #: 50,000 | RS TERE
1 =
ELR 2 = 1, 280, 573
-1- E+2mE SN )R



i
I
St
%lljll
I

kWA | BRTEE & EEE NSRRI ER E W=
H H BN R
THH - T - fER] A7 ¥ = 4 % OB ORR
R e = 1 1,129, 427
FEIRE 52V 1 1, 129, 427
T ESES MR 2y 1 2,410, 000
— A 2y 1 5, 283, 285
EHETRAL 2y 1 4, 156, 820
AR —v 7 = 1 1,041,000 | HER—V 7 (F—aTR—1
) 30 m
LR T Y #p, 50mLL R, SR T4, ¢ 66
mm
Y7 T T R OFENE R X 1 679, 820 | fREHEE AGER
30 B
BHE L Y Lwb
i DB AR
7 ok
+E KR
7 ok
TR AR
7 ok
LW AR
7 ek
T+ D EIPERR AR
7 B
AT = 1 195, 040 | fiFbTasaids
1 =
19~ FAR BV 1 2,122,960 | BEVALHA
1 =

-2 - E+sZi@E SN



==
=]

m
2
%

¥4 | BITHRE fEEREE NP SRS ERC B A
HH — A
THHE - THE - R BT ¥ & 4 AR ER
R TREF
H RLKNL R E
4 &RT
H LKA EHELR
34 5]
7 v Jr—fa BB
10 [=]
Ty AT 2 1 110,000 | FEFpCRALTEREE
1 X
MoE % 2y 1 8,000 | MREL%
4 %N
BiEEE g X 1 1, 126, 465
T 2V 1 71,640 | YEE
1 X
Sr— 2, 1 277,000 | efjii & OWRA AT
1 X
1R 2V 1 660, 000 | I
1 X
TiRE A = 1 88,784 | JikE (FFhL - 1HRMW)
1 =
Jite T/ By = 1 29,041 | Jiti /&
1 =
EETRA L + MR = 1 5, 283, 285
il = 1 3,736, 715
R v 1 3,736, 715
— AT S =« 1 9, 020, 000
SN S5 AT Y 1 1,186,518

-3 - E+sZi@E SN



%lljll
I

kWA | BRTEE & EEE NSRRI ER E B FRA
H H TSR A
THH - T - fER] A7 # & KA OB ORR
BHEEGE = 1,186,518
AT AT 2y 1,186,518 | Y
kW
fEpT S A
e
EHEEA (ZOMFmER <) =X 1,186,518
Z DA =Y 638, 939
— BB = 974, 543
fRNT SR A = 2, 800, 000
TRASSE X 11, 820, 000
TH I it 55 SR = 13, 628, 234
B5 5 T VT ik = 4, 860, 778
BH 51 VT mdR = 4,860, 778 | ElEUE(H
e
T kAT
e
Bhsi 0 VT ke
(106 )1 (&)
BsK 0 VT ik
(30 )1 (AN K
BsK 0 VT ik
(B7 )1 (@EAD K
B A VT VERL - A ERL
-4 - E A28 SUNHT R



%lljll
I

kWA | BRTEE & EEE NSRRI ER E AT ESS
H H TER R SR
THH - T - fER] A7 £ & KA OB ORR
1 =
FFRE T TS EY) R = 5,144, 212
i+ TS SR =X 5,144, 212 | 91+
15 &P
S
3 &P
A7) A DX AR
7 HET
SELy g ET i =X 3, 623, 244
B R ATERGE = 3,623,244 | fEHE
1 =
e
1 =
e
1 A
I5m = 814, 820
im REEHER) = 814, 820
Tavs = 612,500 | ¥T&tE
1 =
Z Dt = 66,900 | HAAHINEIC L D
2 [A]
INBHECSR S VERR = 135,420 | ZABARSRELTVERR
1 ¥5
ERERE = 283, 269
[ER5 ST = 283, 269
IR E = 90,269 | itk CEEHE - fHiHm)
-5 - E+2mE SN )R



m
2
%

==
=]

kWA | BRTEE & EEE NSRRI ER E BOES
H H B
THH - T - fER] A7 # 4 % OB ORR
1 =
AR S T ERCE = 193,000 | EFEFSTERE
1 =X
EEEM (F s MR <) =X 14, 726, 323
Z DA =Y 7,715, 867
— B PR =X 12,077, 810
SERSMRE =X 34, 520, 000
SRR X 48, 750, 000
-6 - E A28 SUNHT R



